
6-Digit: S2

2) =147,628

3) =825,415

4) =206,167

4)

2)

3)

1) =783,901

1) (4  ×  100,000) + (6  ×  10,000) + (1  ×  1,000) + (5  ×  100) + (2  ×  10) + (3  ×  1)  = 

(3  ×  100,000) + (9  ×  10,000) + (8  ×  1,000) + (3  ×  100) + (4  ×  10)  = 

(6  ×  100,000) + (7  ×  10,000) + (9  ×  1)  = 

(5  ×  100,000) + (1  ×  10,000) + (2  ×  1,000) + (9  ×  100) + (7  ×  10) + (4  ×  1)  = 

B) Write the following in standard form.

Write each of the following numbers in expanded product form.A)
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